
AERIAL BRACKET
RIGHT SIDE BONNET HINGE

TLR744802

SUITED TO:

ISUZU DMAX RG SERIES
ISUZU MUX RJ SERIES



PRE-INSTALLATION

Read through this 
installation guide 
before proceeding.

Fitting time 
is approx.
20 minutes.

Spanner
Socket Set

FITTING KIT

QUANTITY PART

1 TLR744802 – Mounting Bracket

2 M8 x 25 mm High Tensile Bolts

2 M8 x 17 mm Flat Washers

2 M8 Spring Washers

2 Cable Tie 150 mm

NOTE:
This Aerial Bracket is designed to mount to the right-hand side rear 
section of the bonnet. 



FITTING INSTRUCTIONS

hello@tlrproducts.com.au
www.tlrpoducts.com.au

instagram.com/tlrproducts
facebook.com/tlrproducts

1. We recommend applying masking tape along the rear edge of 
the bonnet to protect against scratching 

2. Remove front bonnet mounting bolt and discard.
3. Position the TLR Products Aerial Bracket and install 1 of the 

supplied M8 mounting bolts with flat and spring washer supplied 
in the front mounting hole.
TIP: leave loose enough to rotate bracket into position. 

4. Remove rear bonnet mounting bolt, rotate TLR Products Bracket 
into position and fit the remaining M8 hardware. 

5. Ensure the bracket has adequate clearance around the bonnet 
and tighten mounting bolts to secure bracket in position.


	Slide 1
	Slide 2
	Slide 3

